09 wos misspy| - 23 F

6ei 15b| @Y HI9 Bl

% 2SS LIEHE O LE-OIZOIXIX| 2O BH25H0 2| 2D LIEHKIAIS.
AolaE 4000¢

1 WRIES WEEE A8, 2 Aol A717F 200009
XEOIZ - HDM0 CHSt Stolst 2| HIg Brolalo] T )&t SHOlge @ 9017197
WL aia o

C1E%)  (Ahiske

=4 20000 4000 2480%% x 100=20%

o
=

¢

£42 30000 3000 g’c?o%% x 100=10%

A% 60000 3000 g’c?o%% x 100=5%

=] 20%, 10%, 5%

3 Q3 WHEZF 80009QMH FEOE 24009 T 4 AR A7PF 1500099 A4S 1350090 Har
ul FUE WIS 2 w07ER?

AU TIE2 B 297187 P

2000094E] =315 AnfEAE 17500909
al BUufEOAE 1640099 a1 QiU e
o] t &2 nfEQ] IS 2 %A FLEINIL.

R QgRsl 120009090 AL delow 7
o

5 =1 v’
120008 U YRGS, Al e

2 %7kR7?
Ck Ck
H H
Of:p=A00
Bg % S
s
SErEUTL L SR 0[Z0Hs 2548t EXK| FOR ALL

OOTAaLT-1



	03



